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02 =AMl 6,000 3,000 3,000
Oflelitzd HHAE TAT7EY
20,0002 +300 6,000
QESM=EX K& 26,878 18,373 8,505
205 2|3/H| 26,878 18,373 8,505
1 oYE=0A=RE= 12,096 6,69% 5,400
OLE=0=RE=
2,800,000 821+ 12& 4. 5% 12,096
12 =R ALRSES 14,782 1,677 3,105
OLE=2AA2E= 14,782




2A:

I Agelsl 28 A
¢ o ZaEs XA (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—JdZEEs BE=
2,800,000 111+ 12E +3.545% 13,103
—LOFIQYRHE 2YD
13,103,000 *12.81% 1,679
HY2AIHI(AZIAIRR) 2,039,005 1,683,411 365,594
el 2| 1,865,045 1,606,352 258,693
J|E= 14| 1,865,045 1,606,352 258,693
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